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1. (a)

P25/624

Jor the questions

Paper : GECCOM3A

( Personal Finance )

ST 1 ey foran 1x4=4

Write True or False :

() Ry e tor o @3 s IR
sRwe GRew e W Fa wre
HAGIS TSR [ @A (TR I
AT
Financial planning is a process
through which an individual can
chart a roadmap to meet expected
and unforeseen needs in life.

{ Turn Over )




(2)

(i) 5 94 S GO ¥ TA FRIA A |

The another term of net worth is
working capital.

(i) = M +Afre e T R @A wwaf
(F=F 4R) I TH |

Any sum received on life insurance
policy (including bonus) is not
chargeable to tax.

(iv) Rema Qo o Romq 4/ T
Sece Brarg azed I SR 399 |

Risk communication and risk
perception are essential factors for
all human decision-making.

(b) AR AT [ 1x4=4
Fill in the blanks :
(i) SReT 370 = e W (1 + )

Future Value =
Present Value (1 + )

(i) &I T TR ¢S 6T F1
A |

Life goals should depend on
goals.

P25/624 ( Continued )




(3)

(iii) 39 FS 2’ .
Tax evasion is

(iv) fRom tarr YR ISR AfeRfET
qEl R W owered RO
AT |

risk is the variability of return
on portfolios not explained by
general market movements.

2. e fAARS & @ fofbrR v 59 G for

4x3=12
Write short notes on any three of the
following :
(@) TR T I

Time value of money
(b) 3CEG SF IACHES oI
Budget and evaluation of budget

() W AZFE 4_I 80C T TS T

Deductions under Section 80C of the
Income-tax Act

(d) TS TG TN T

Tax deducted at source

(e) F% I

Health insurance
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(4)

3. (a) ‘e [REF RFe 2k @bl 329 * A
@ RV s[eed oF /18 SWEe &
oA FAede WS qEn 1 [RE sfew
dfF o wfde [REw IwRe TWR ORI
o fefe T [RRSCHT SICeo- 41 | 10

“Personal financial planning is a
broader term that implies more than
mere investment advice and subse-
quent placement of funds.” Discuss the
statement in light of financial planning
process and its significance in today’s
financial markets.

%24/ Or

(b) 3 I WS 12% oI TF© 10,000 5F[

AT T ot I @A [T =W B 90
§§[_
Calculate the compound value of
T 10,000 at the end of 3 years at
12% rate of interest when interest
is calculated on—

(i) I=cTeR fefas;

yearly basis;

(i) fame fefes)
quarterly basis. 5+5=10

P25/624 ( Continued )




4. (a)
(b)
5. (a)
(b)
6. (a)
P25/624

(5)

ffen @R ol ow B B2 T e
%) e et I <90 4+6=10

What are different types of financial
goals? Explain the process of setting up
long-term financial goals.

531/ Or

e AfoRyE e RSN SRER 93
Tge-+[q #ES 391 9 (b 3¢ o Sferear 1 10

Draw a proforma of Balance Sheet of
financial status with imaginary figures
and find out the value of net worth.

39 ARET 2 o9 R WF 9 P
s <3 ereerR & 2 4+6=10
What is tax planning? What are the

differences between Tax planning and
Tax evasion?

<1/ Or

WS RO 2-Ffered “afS I F41 | 10

Explain the procedure of E-filing of
income-tax returns.

@R on oo 3 2 Rese@ st 10

What are the various sources of credit?
Explain in detail.
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41/ Or

(b) R AReET IR TEe e we Kor
Go oF 29 MR 1T @3 TSN opieere %
i ROR TR ST TR (- R
A 40
«Risk and return need to be trade off
while investment planning.” In the
context of this statement, discuss the
relationship of risk and return and their
measurement.

P25/624 ( Continued )
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Paper : GECCOM3B
( Retail Marketing )

1. (a) W% G Srym &g : 1x3=3
Write True or False :
() o9 Rele o WS e gFg 2me
FE |

Mass marketing focuses on specific
segment of the market.

(i) CSfeR 9F F9-E@ PHIA T |

Vending is a non-store format of
retailing.

(i) GR @ETE ARFT WA IFE 46l
wEee g g fRons Rev w4
|

Store layout is considered as the
most important aspect in attracting
customers.

(b) M 5 o[ I 1x3=3
Fill in the blanks :
(i) et R @O Sfeom =ik |

forms an integral part of
marketing mix.
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(8)

(i) SHeES a1 eI e

@R i€ =R |
India is dominated by
retailers.

@) ey afdey Tome (& ©. =)
oS Cafee |

The Global Commerce Initiative
(GCI) was created in

2. wors s R e siRoR e oy Gt fors
3x4=12
Write short notes on any four of the
following :

(@) I Rewor Rad

Evolution of Retailing

(b) RRARIACED
Hypermarket
(c) pF =1 ARPEA

Retail Product Planning

(d) oors el S oors RET o) e

Difference between Direct Marketing
and Direct Selling

(e) 1 Regrom wiz g

Legal issues in Retailing

P25/624 ( Continued )




3. (a)

(b)

4. ()

(b)

P25/624

(9)

P Retems sigeet o | 3531 R <o o
AN ST=oACF SACEo 7 | 2+6+6=14
Define retail marketing. Discuss the
scope and functions of retail marketing.

Y211/ Or

SREET WP WE RIS YA SR
AF1RF AT A F90 | 7+7=14

Discuss the types of organized and
unorganized retail stores in India.

@R wEE 2 A R e @
e =91 202 I Re@n REme aeez
HICEAOAT 4T | 2+6+6=14
What is store location? How is the
location of a retail outlet determined?
Discuss the types of retail outlet
location.

¥2<1/ Or

W 10 R B2 1 1o e wfe
CFMET e A 390 1 {51 o e
ASR B T FRER WA I | 2+6+6=14
What is retail pricing? Discuss the
strategies involved in retail pricing.
Discuss the factors influencing in
setting retail pricing.
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5.

P25/624

(10 )

(@ ‘°Fe @ @M TgT o, @29 o A
R T o FooR 7[1 wfets deRiEe 17
IR 4
“India is a land of billions of people;
retailing in this country is highly
influenced by ethics and relationship.”
Explain.

</ Or

(b) P Rfeq aom M &2 o R ooma
BRI ARCH Sees 9 1 R g

14

RfF av=e @@ 28 @2 2+6+6=14

What is retail promotion? Discuss in
detail the steps in retail promotion. How
does advertising help in retail
promotion?

( Continued )
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Paper : GECCOM3C
( Labour Welfare and Social Security )

1. weTs frnaes fotmRd e fa - 1x4=4

Answer the following as directed :

(a) 2R @l e afSEe 9% T

e |

(=M 91 o 79 )

is an unexpected occurrence in an

industrial establishment causing bodily
injury to one or more persons.

( Fill in the blank )

(b) ET IR = TH 93 TGS G AT

(o 7 wrRem o141 )

Social security refers to the provision for

security of life and property in a society.

( Write True or False )

() The Maternity Benefit Act, 19619

TR e T gvme R Sy 74

=

(%= o o fordn )

The Maternity Benefit Act, 1961 deals

with providing medical insurance to

employees.
( Write True or False )
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(12)

@ WA AR I S FRR PR
QT TR (ST T SR 2T |
(<1 SR I F)
__meansall those efforts to make life
worth living for workmen.
( Fill in the blank )

0. s fracad i e Rl wers oy Gre o :
4x3=12

Write short notes on any three of the
following :

(@) e T e TR
Industrial Health and Hygiene

(b) IR A

Social Insurance

(c) TG 2Tl

Accident Proneness

(d) Intramural $e0
Intramural Welfare

(e) 21 T DM

Group Insurance Scheme

F25/624 ( Continued )




3. (a)

(b)

(b)

P25/624

(13 )

AT FAR 49 TF ST 1 390 | 11

Explain the concept and importance of
labour welfare.

237/ Or
e o B2 Srfie Thme IR e
oo Ratg = <54 | 3+8=11

What is industrial accident? Discuss the
causes and effects of industrial
accidents.

TS o= T2 TR AR we g A
(TS T 3+8=11

What is social security? Discuss its
scope and importance.

23 / Or

WSk 2o REE =z 99 | 11

Discuss the implications of various
legislations and schemes for social
security in India.
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5. (a)

(b)

P25/624

(14 )

The Employees Compensation Act,
19237 SES SsRE el W T
ETeR T S Rurprzd R S
Fq1 11
Discuss the provisions relating to
partial disablement and total disable-
ment under the Employees Compensa-
tion Act, 1923.

<1/ Or

The Employees’ Provident Funds and
Miscellaneous Provisions Act, 19529
B SO e SpA W SR
TR TN SpR-TAdE  Reweas
ST 90

Discuss the features relating to
Employees’ Pension Scheme and
Employees’ Deposit-linked Insurance
Scheme under the Employees’ Provident
Funds and Miscellaneous Provisions
Act, 1952.

The Employees State Insurance Act,
1948 wpiR (@ e e ST (Fa®
R AeEet IR KA el
901 5+6=11
Discuss the provision of benefits to
employees in case of sickness and
employment injury as  per the
Employees State Insurance Act, 1948.

( Continued )




(15 )

<1/ Or

(b) The Minimum Wages Act, 19489 S8®
TGRS et == P 99 afewds) seama

P25/624

A
Discuss the procedure for

11
fixing

minimum rate of wages under the

Minimum Wages Act, 1948.
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Paper : GECCOM3D

( Financial Markets and Instruments )

1. WWWWW: 1x6=6

Answer the following as directed :

() ST ﬁ@awmﬁmmwﬂwn

Name one component of Indian financial
system.

() N I S e @ X2 W
T 24P |

(% (A orem o)

‘Certificate of deposits’ and ‘commercial

papers’ are instruments of money
market.

( Write True or False )

(c) m?@ﬁﬁwmﬁﬁ@ﬁ@wwm
oL

Name the broad market index of ‘BSE.

(@) e TR TR &1 T
(e SR AE )
Primary market is also known as
( Fill in the blank )

pP25/624 ( Continued )




(e)

(17 )

@RI EeT TR HERETFE] o]

T T <r¢ﬁﬁ§$9ﬁm,m

~
e S T
—_— a

A
A

(<& 52 o)

When a company raises fund from its

existing shareholders, by issuing them
new shares, it is called .

( Fill in the blank )

33 Rfawe &= <3 59fs 79 |
(5% & wrom foran )
Stock exchange is an organized market.
( Write True or False )

2. oo il gses | @ wfom 53 Tew fi

3x4=12
Answer any four of the following questions
briefly :
(@) TR IS IF T TR TGO ] L

(b)

(c)

P25/624

e &= )

Distinguish between Money Market and
Capital Market.

@R Rew eome <« Gy foret |
Write a note on treasury bill.

21[\9\33 QI Eaakl &9

What is listing of securities?
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(18 )

(d) mw@waﬁﬁﬁw @Ol @59 TEe A
s{1efe IS a1 |

Distinguish between Repo Rate and
Revenue Repo Rate.

(e) TR ITR FACE TIF T P

Explain financial market in brief.

3. () SRR [ew TERE ARFICH F=ACE S
F9U 11
Discuss the structure of financial

market in India.

%<1/ Or

(b) a5 (P wfafes Sae REF Teed o
T SCEAD 0 |

Discuss the role of financial market in
the economic development of a country.

4. (@) T@ & RopEe e (MMMFs) @2
MMMFs 3 R4 SF SPRYPHER  SCEDA
Bl 3+4+4=11
What are money market mutual funds

(MMMFs)? Discuss the advantages and
disadvantages of MMMFs.

P25/624 ( Continued )




(b)

(b)

6. (a)

P25/624

(19 )

0

%37/ Or

ST T IFRT (RO TeIHF TR $41 1 11

Evaluate the recent developments of
money market in India.

8y 2fes R 391 1&fSRee e o1 |
2+8=10

Define new issue market (NIM). Explain
the methods of issue in the new issue
market.

<1/ Or
qRieT TeEdl B 57 37 Riffset afdmpmz
ST 341 | 2+8=10

What is initial public offering? Discuss
the processes of book building.

¢GNe ITRT /@ 741 | (N9 ISRE AT
T LT T A 10 2+8=10

Define secondary market. Explain the
need and importance of secondary
market.
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(20 )

91/ Or

(b) =R 33 R IwmT eRe ofb SRER
SISCERT | 10

Give a detailed overview on Stock
Exchange Market of India.

% %
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